
LIVESTOCK SCALES

MAS-LC (2019 model)
Gate Component Details

3

1

71

72 69

70
19

19 18 68
69

72
68

18

19

27

67
66

68 18 19

36

2219
68 18 19

22
19

64
9

13

19
22

18 19 68

191868

73

2425
23

26

   Parts for Latch Bracket
PN 141394

64 www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2024 Rice Lake Weighing Systems   1/24   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

LIVESTOCK  
REPLACEM

ENT PARTS



LI
VE

ST
OC

K 
SC

AL
ES

MAS-LC (2019 model)
Gate Component Details

Part Number/Price
Item # Part # Description
1 185923 End overhead, 7 ft

192423 End overhead, 10 ft
3 185926 Gate assembly, 7 ft

192424 Gate assembly, 10 ft
9 191611 Hinge, universal upper
13 163215 Hinge bushing
18 15159 Washer, lock 3/8 in regular zinc
19 21938 Washer, plain 3/8 in type A
22 127003 Screw, cap hex 3/8-4, grade 5 zinc
23 70339 Grease zerk
24 208638 Eye bolt, SST, 5/16-18 x 4
25 131702 Spring, compression
26 203478 Latch pin
27 127013 Screw, cap hex 3/8-16 x 3 in grade 5 zinc
36 186458 Strike plate assembly
64 164363 Bracket, lift stop
66 132917 Carriage bolt, 1/4-20 NC hex steel
67 159783 Kick panel, 7 ft

164153 Kick panel, 10 ft
68 132684 Nut, hex 3/8-16 NC grade 5 zinc
69 150715 Quick link, 3/8 in
70 150820 Eye bolt, 3/8-16 NC x 3 in
71 175831 Panel, gate 7 ft

175829 Panel, gate 10 ft
72 150716 Cable, latch 1/4 in OD, 7 ft

154690 Cable, latch 1/4 in OD, 9 ft
73 141394 Gate latch assembly

65www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2024 Rice Lake Weighing Systems   1/24   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

LI
VE

ST
OC

K 
 

RE
PL

AC
EM

EN
T P

AR
TS


